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Why is he 2»m; — P07 RP TN MWD TN NI 2357 INMAN
he merely transferred the object from one >''719 to another >''719.

OVERVIEW
The X713 asks that if the 2"7v2 is placing the object into a basket — '7 9¥ '7 - that the
°1¥ is holding; it is tantamount to transferring an item from one "7 to another, so
why should the 2"7v2 be 21. N1BOIN expounds on this point, that not only will he
not be 211 for 7"717% "7 IR¥II, but he will not be 211 at all, even for >"777n VWA
YXNRA 7" 0", as evidenced by the s'Rnx expression of 211 XX, without any
qualifications, meaning that he is not 217 at all. m»0I1n will explain why is he not
211 for vwWIA.

— 29NN XY NNN NV VIV DIVN IT2AN)
You cannot be 217 the 2"17v2 even for the 77910 of Wy, even if the 2"y "1

were on the same side of the 7"771, where generally there is the 211 of v, nevertheless in
our 7wn where we are now saying that the 2"7v2 placed the object in the basket held by the 1y,
he would not be 21 -

— 3199 Y 1YAPIY T80T bsnbeasn sah
according to the "»»217° 71170, who requires, that in order to be 2n for LW, it

is necessary that the receiver accept the object (from) [in] his hand, and in our
case the object was placed in a basket and not in the hand of the °1v, therefore he will not be 217
for vowm.?

SUMMARY:
v 1s 211 only when the v places the object in the recipient’s hand, but not if
he places it in the >"717 proper.

THINKING IT OVER
If he would be 211 for v, would that pose any problem in our understanding of
the mawn?’

!'See imwya 1"7 X,3 MdOIN

% See nmX NoW as to the proper X073 (according to the X"w1in)..

3 See max nown 2T nwo ,w"x17 Mmooin for alternate 2°wws. The vwd used here reflects the X0 of the X"wAnn,
according to the naX now, and is in accord with "3 7mwya 7"7 '01 which states: & 22X 171 172pn 1770w KON
M0 [ANR] 2" DY man vwnan.

* See x"ow.

TosfosInEnglish.com



